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SYNOPSIS
7KH�VWRU\�RI�D�ZRPDQ�FDXJKW�OLYLQJ�LQ�WZR�SDUDOOHO�ZRUOGV��6KH�EHORQJV�WR�KHU�
SDVW�DV�PXFK�DV�VKH�GRHV�WR�KHU�SUHVHQW��+HU�PHPRULHV�LQ�6\ULD�FRQWLQXH�WR�
VKDGRZ�KHU�DV�VKH�SXUVXHV�D�QHZ�OLIH�LQ�WKH�8�.�
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1 + 1 = 1 (2020)

CONVERSATION QUESTIONS
���,Q�ZKDW�ZD\V�GRHV�WKH�¿OP�LQYLWH�XV�WR�UHÀHFW�XSRQ�WKH�JHQGHUHG��GLPHQVLRQ�
RI�VHHNLQJ�DV\OXP"
���+RZ�GRHV�WKH�¿OP¶V�LQWHUSOD\�EHWZHHQ�1LVUHHQ¶V�FKLOGKRRG�SDVW�DQG�DGXOW�
SUHVHQW�H[SORUH�WKH�LQWHUVHFWLRQV�EHWZHHQ�WLPH��PHPRU\��DQG�VHOIKRRG"�
���:KDW�LV�WKH�UROH�RI�PHPRU\�LQ�UHODWLRQ�WR�RQH¶V�VHQVH�RI�EHORQJLQJ"
���$IWHU�ZDWFKLQJ�WKLV�VKRUW�¿OP�KDV�\RXU�XQGHUVWDQGLQJ�RI�WKH�ZDU�LQ�6\ULD�
FKDQJHG"�,I�VR��KRZ"�


